Stast gt 3Ll s)at

=

2018 /07 /05
CULTURE
ofed

EHE L E,
K APIRE SHE, M 222 44

=11 i
I
Mo
ok

FO[X| AFIRE, EFFIELL| A|2 <Water State 1> AX| HZF 2018 I3 4

15 LY =M SeiFo| M2 =2, AR
KSA7E O BOf Cha Aafst 22{7|1E 71T o|20f ArESe
LZO0| 2 S1 QUC Xt HRO| F2 MAS Wt 22 7H
Z0] SO71H FE =X[oF ehi HZM HEZ X[0El 35
U=0| =afo| LY gt MLIE YHE AESCL Xt

58 26 MEA 22 & =2 P-E—’ ’JII:“-'(Piknic)’OIEL
197010 S M|of|Ate] A AISS YE HES= LA =
2| RASHHM DI AHRLHME MHE =S 2 SHHFELC]
AR 7t TK| HAEY 2R £ HAMC WAL
0] 20|= RRE S2 252 Eoiet FAlIS 2
A= SZHO0| JLt. T3 2FT2 A7 |EAL =

0|2 2014 Ot=T0|& 2t ol <EAH2 Lo E>T
7|28t7| = ek

.u.F

1/3



L= FXH FOIK| APFIRE

oade TR S ¢ M YR FXM JO[X[ AFIRES
E9H <Ryuichi Sakamoto: Life Life>(5. 26~10. 14)Ct.
AR EE S} <OFX|2h EH|>(1987), <EHEHE>(2015)2t
IR <HBHAA S (2017) O2|1 A2 Q7|2 2 <2 0]
HFO| R0 WIR>(2017)7HK| SYL=S GASIHA FLHol=
2| LTl QIS0|ct e JolsAR2 E2 oS
QIBtMIELR, W, AHE L E S HASIHALE 2A|AERIR}
HASOIS S8t AEXQl HH S5 LHSIHA MU
7tE ZSRACL 2006 ARE = M2 RSIIEM X243t

=]

7

X, HEESEA 2, fAE gt 25 S3 FEIMCL

O MAl= AFIZE CIf| 40FEHE 7| Fo S4A=, 271,
AM2RB7t2A 08 MENMO R MEHSH= MIA| [ HA|CH
AFI2ES| Z9f et O|C|0{0LE HX|%E S5 eHAt2|of
Edzafoticy.

2/3



20[k| ABIRET} HA

o
rlH
fjo
HO
4n
k1
Ll
O
A

=
M
m
A\

]
B
oM

HAlE T34 Xt 15 RE K& 3510 LR 2 BHEICE

EFH Che7t QY0I2ts HE 1l TAIY =8 #H7IE
ACHeh S0 ZAZ0P IS + s gEs UEJAL. IF

7t EPFHELL| A2t Yot AX|ZHE <Water State 1>1t
<LIFE - fluid, invisle, inaudible...>2 2tZHo| ZZ2tH HiHS
O|BHA| 7HE 2 017|E ULt 22 FMER UHE F RHES2
Aol A A, HHOA 7|HZ ERL0| Hatsts 22| =2

S A0 CHEE AR EL| A Hhdst 24, 32471 .=Z0i|A 6m
ofgf X2 SUS S HotAI7|= <Water

State 1>2 HIHO[E{Z MANIA| 7|4 HEE £33t = BWS
L2 M| W2} CHEH| ZESHHA 7|4 HtE 2RHMO=
BHJCE <LIFE>= 1999H A2 ES| &2 Qm|2t <LIFE>-
E {743 2HE. 330l oHE2! 37He] =0 2H|2t A2
K2 FARSID X0 22 QI3HQl QI E HMets SetEQl
29718 =4MCE

o3y Jh2 2ot 5 2 ohofl SNSQ| SHAIEH T (#) AHIAIS 3T
JHE STtstHAM MREE ‘SHEE|0|A'Z EET| X2 |0fARHCE.
27t X ZHOME MO Z 7|2 Tl M, o|2{st
ZM7tF otto] o= ELIX| 11 m|3L0| 25t ARMCO=E
HEe £ s Yol £|7|E 7[chs=Ct.

3/3



